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Each question carries four options namely A, B, C and D.
Choose one correct option and mark in appropriate place in the

OMR Answer Sheet.
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Who was the Viceroy of India, when the Rowlatt Act was passed ?

A) Lord Irwin

C) Lord Wavell

B)

D)

Lord C'helméford _

Lord Wellington.

Ciyeral gLl gr;edm@mggﬂu@&.g,@u&u Gurg eveudlyrwme Gymbgeut wrf

A geller dipy
C) GCeauCeusv Sy

B)

D}

Which one of the following is the softest ?

A) - Sodium
C) Iron
Spsscimn_cuppet ag Hpgerears 1

A Gsmgubd

- Q) @imby

B)

D)

B)

D)

QasbavGuri® Sy

Qleuediu_sst L.

Aluminium
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As a non-member who can participate in the proceedings of either of House of
Parliament ?

A)‘ Vice-President B)  Chief Justice
C) Attorney General’ D)  Chief Election Commissioner.

BILTEhLOETD  B)® @;smmé,aﬂggjlb 2 podlett giders  wri GGeUT  seanu
BL.euy SHenemetler LG Qameien @lwsyid 2

A GO GURUISS Haveveut Bl smaow BHud

C)  epLmrefl Qgeryé D)  soaow Caigs g memmur.
Which is the river on which Indira Sagar Dam is planned to be constructed ?
A} Mahanadi B) Godavari |

C} Krishna D) Narmada.

ahE 2 bl @nsCs @rj‘;@urr_&rrs:r'r- Sjemamor sUL Sl LBl efrerg 7

A werpd : B) Gargmeur h

0  Ameyeonr D) miwsT.

The first astronomer who gave the ideé, ‘The earth rotates on its axis’, is

A} Bhaskara : ' B) Aryabhatta

C)  Varahamihira | D)  Kalpana Chawla.

ued ser oy&dld &Epdaaﬁhj)gj aeTLeg pese CQsMalss aureiiud suegBT CLuwenrs
SPILIGe. ' .

A} urevagT B)  oyfluucer |

O eugrafdiblamint . D)  sduerT smeer.

Which one of the following angles cannot be constructed using an unmarked
ruler and compass only ? - S ‘

A 75 ‘ B) 90°

o 50 D) 221

afgbémrr@fn Canenr sereymaflés  geralltuLrs SjeneyGarey wHmb sribudlen
2_pallure ahs Camramsms suDTW @huevrg ?

A 75 B 90

o 50° " D) 221
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3
For a Frequency Polygon, the ﬁpints are plotted against b
A)  mid-point of the class interval vs frequency
B) lower limit of the class interval vs frequency
C) upper limit of the class interval vs frequency
D) real limit of the class interval vs frequency.
S Seal LeaamsHi qmaﬂaerr TeHG TTEd @@aa&uu@éﬂggj 7
A asiy GeoLQaualdler pELysiefl vs SifitGleusdr
B) eu@ly @@L_@maﬂuﬁlsm EpeuybLieted vs Syt Qeuetor
0 aiy GeLeusfifldr Gudeuribyiyeref vs < SrQleustor
D} aEly GoL Qe 2 aomenn aiybyiysteh vs SiflitGleuds.
AICTE was established in | |
A) November, 1945 ' B) November, 19556
C) November, 1985 D) = November, 1975.
AICTE @@muuﬁl_ 2|, o1 (H

A) ‘;r;sm'bur'r, 1945 B) peubLit, 1955

C] Meuburr, 1985 D) meubUuf, 1975

One of the main publications of John Dewey is

A)  Secrets of Childhood B) Education Today

C) Education of Man D) The Social Contract.
somest BGeunlledr QeueflSpseiles oSuwTeng |

a) @@ﬁj@@ﬂ Lpeu &Sl B) @erenpué sdvall

C) walligaidr séal D) swstw guUbSD.

* According to David Ausubel, “Verbal Learning” is

A) . learning a new language

B) oral practice

C) understanding verbal information

D) passive learning experience.

CLa S s0udls amoglLg ‘amiaufls sHpe’ g

A yHuQurf geteps sbps CsTeralg
B  surt@umfo Lfipé

O  ambaflp seebamen L[rﬂﬁg}@&»rrmeu@

D) Qsuwpp sSHn euueb.
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14.

15.

4
The Southern Regional Office of UGC is in
A)  Hyderabad | | B) Bangalore
C} Chennai : ‘ D) Mumbai
usu&smmeaeabpﬁ LDITGBﬂUJ&: & (UGC) allét Qaph@ wemL e Syapieuaahd &mm;},gmm
@b
A eansyTuTs B Qi et
C) Glsehremen A : D) qbeou.
National Population Policy was evolved in the year
Al 1976 B) 1979
C) 1986 D] 1977.
(Bg,eﬂu.l & Belt Qgrrem&, Qereirens CGamhpalébaliL oy erd -
A) 1976 Bl 1979
C) 1986 D) 1977.
According to Abraham Maslow, ‘Self- Actualisation’ in the hierarchy is
A) first step B) final step
C} third step D) fourth step.
2 Uramb wreBer-aller quﬁlmw&aﬂs\) ‘geaflenmey’ ereTug)
A wpse flow B  @Qné Hene
0 pemrd Hene D) mrenarh Hleve.
Who is the author of ‘Emile’ ? .
A)~ Dewey B) Bertrand Russell
C) Froébel : D) Rousseau.

‘Emile’ erebrLigest oy Arfluit

A @ B} QuiLpeii pevené
C)  SuGprue R e Geror.

The university that has no affiliated colleges is

A)  Madras University

‘B)  Madurai Kamaraj University

C) Thanjavur Tamil University
D) Manonmanium Sundaranar Umversity

sdogyrifleneir E\emenorey cuens UG0& e & pHID astrrug;sumrrg;gl
Al Qaesremen UEa&S D

B) wger sTogret LhsaaESpsLD

Q) peres pllp LbamGsHPSHD

D) wCerdnoasiud shsyemrt L&D VHESPSID,




16.

17

18.

19.

Human Rights Day is
A) December 10 B} December 7
C} December 26 - | D) July 17,

weflg 2 Meswseh Hemd arerLg

A gsbut 10 B) gsdut 7

C) gebdut 26 | D} goma 17.

Which one of the folldwing models is not on curriculum development ?
| A) The Tylor model | B} | The Ausubel's model

C) TheTaba model D) The Hunkin's model.

afgpéa&aﬁl.mgb@a'l arg eaall gpur@ cuentéflég QarLrldoarss 7

A eet wrdlfl B) s&0udder wrdHi

O vmum wrdf | : o ‘D) eneandlereder wrdfl.

The chief objective of pre-primary education is to promote .................... of the
child. _

A) physical develop-ment 'B) mental develoi:»ment

C) social development | D) overall development.

e yybussdaldies w&Au Cprésuorang
A 216 euertéd iflafgaa
B) wereueritiflow o@lamnssd R

0  ssru aentéflow fsfssd

D) @LECwLrEs msm'r'éﬁlsc?q:l( aﬂarﬂ&gm

If the teaqher-—ﬁnds'ih(l'eamer's activities something new or original, then the

~ child 1s supposed to be

A) intelligent- _ SR B) creative
C) critical . D) motivated,

G0 Gpbosld ahpé Ceuaurhsdis glagd UflgTe sweag FLLTOTETES GG
28l s fibsre Sihes GPpbosurag

A ypdlend) _ Bl 21555 SpgueL weurt

C) Spemiaydsseut D) wnd@eldstul et
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20.

21.

22.

.
Which one of the following is not a learning domain ?

A) Coglﬂtjve domain - B) Psychomotor domain

- C)  Physiological domain D} © Affective domain.

SEP&EHTTLbDIeT (S D HHPS LGH Qaersg ?
Al sflan ugd - B eer-@uisiued
0 e Lelwd ugd D) 2 aoitédll ugdl.

A particle is projected with a velocity of 24 m/sec at an angle of 30°. The time
of flight is ' :

: 24 12
A g ' B) g
12 : 36
Q — ' D —
) g® . ) g

Garemid 30° & fE aflgsst 24 m/sec dloms Causgdle adwiLpHng. 2ige

upses Cpiribd
24 12
A) g B) g
12 36
o == D) =,
) 42 ) g

A stone is dropped into a well and reaches the bottom with a velocity 30 m/sec

and the sound of the splash on the water reaches the top of the well in

3 s-g-?- second from the time the stone starts. The velocity of sound =

Al 150 m/sec . B) 360 m/sec
C} 260 m/sec ‘ D) 300 m/sec.

g6 s Happle allwbs 30 m/sec aadp HosCussdla sdE  IgoW
S fipg wbpb s& shé aloyoGurs ghulL el 3 %2—? Cpmguler lesrpled

GupueHowu o_Fpg. (-&,53) allqpd gbu Hleveller Ly ) ereflen, epedlulle

Fems Geuaid
A) 150 m/sec : . B) 360 m/sec
C) 260 m/sec D) © 300 m/sec.




23.

24.

25.

26.

, : | oo
If the greatest height attajned by the particle is a quarter of its range on the
horizontal plane, the angle of projectton is

Al 45° B 30°

Q  60° : ' D) 90°.

6 apigss HoLbs SUGL® Lmljfo.- deoLsaarsder 55 28 OGS af&élc&r
pretdler @ Lk aafle, spdr afiGareaumin

A 45 \ | B 30° -

o 60° . . D} 90"

The horizontal range of a projectile is maximum when angle of projection is
A 60 B 90° | |
C) 45° , D) 30°.

6 shusden alss grpd sfleuswrs Bé6L0UTE Sipe afi@amemid

A 60° . B) 90 '

C) 45° : D} 830°

If two velocitics are equal in magnitude, then magnjtude of resultant velocity is
A 2Vsing B 2Vecosg

C) 2VZ2cos % D) Vecos %.

Bim Heosalwmsast e Syerald swwTaTa aafd, scualp aleeadiar allaerey
Flansaflene e jerey

o o a
A} 2Vsin 7 B 2V cos 5
2 0] e
C 2V cosz- | D) Vcosz.
The acceleration component in the normal direction is
A ‘—: B). ro
2 : o :
¢ o D

A) ‘?, B} ro
2
C) %- : . D) r.
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28.

29.

30.

8
I nis the coefficient of friction as the equilibrium is limiting, then

F F

A jg<p : Bl p=1n
R

O F=u ' D %

H arediugl 2 priellé Gsap, #wberes erdveneuuiién @@s{,@m Qur el

F - )
A) ﬁép B} = R

i

C)] F=np | D) > H.

Two parallel forces P and 5 act at the points A and B, then their resultant R
passes through a point C which divides AB in the ratio

A 20:P . B) @:2P
CQ @:r ' D) P:Q.

A, Bersoip 8w yeireflaeflcn F. g aem @k Qe aflemens QewuauBdlarna

Sielesseflar aflaerey oflans R yetell Cauflurs AB ew INseb oldsb

A 29:P B @:2FP
Q Q:P D) P:Q.

If the resultant of two forces 3P and 5P is 7p, the angle between the forces is

4} 30° 7 : ~ B) 45°

C  60° | D)  90°

3P, 5Paap eflmesdldar alametey alens 7p ereflesn, obg alloesEnsd @eou_ﬁuu'_l_
Garemonp ‘ '

A 30° : B 45°
C  60° D) - 90°.

G is the centroid of A ABC and P is any point in the plane of the triangle. Then
PA + PB + PC =

A 2 PC Bl PG

C) PA ' D) 3 PG .




-31.

32.

33.

9 _‘ | 808

Geaeiugl A ABC &1 @wwsBeri® ehdl. P wsCaren gersdle edier gCogid pm
yefiefl eraflés, PA + PB + PC = -

A 2 PG B PG
QO PA | D) 3 PG .
' ' o z+l
The singular points for f(z)=
2(2 +1)
A 0 1 -1 ‘ B) 0, i
o 1, i -i ' D o -
flz)= —Z*Lf——sﬁrg,soﬂuuLLqm'mﬂ&.eﬁ(smgular]
22(22+1] . o :
A 0 i -t S B) O i
O 1,4 -i D o -i

Any two harmonic conjugates of a given harmenic function u{x, y) differ by
A x B vy

C xy ' - D) constant.

: G\&SI’I’@E‘I’:&BI;ILII'_L_. ulx y)@ewe sridlen Gueaw® 5%&7@@ @eve  sriysefle

- Coupur®
A X B y
Q) xy ' ' D) e,

The image of the circle | z— 3{"} = 3 under the. map w = % is a

A} circle . o : B) straight line
- Q) square | D) réctangle.
w =% et 2 BOTHpsSe | z- 31| = 3 admp m'.t.é;ék&r wrw Siouib
A e LD ‘ B) @mﬁ(ﬁmrr@
C) egpb N D} Qasueusid.
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34. The value of j %; dz, cis the circle |z| = 1, is °

c

A 2m ' ‘B 2n
2n 2 i
9 - AR TE R L

b4
ceredugl eult b |z| = 1, f % dz, &1 wdhiy
[

A 2mi . Bl 2n=n
_2=n o 2 i
¢ -1 Dl fR-1)i

35. The function f(z)=|z[2is
A}  differentiable at z =0 - B) differentiable at z= 0
C) nowhere differentiable D) not harmonic,

sy f(z)=)z| 2aerug

4 z=0& awosllsgsag B) 2206 cumallppéem .
C)  eigh umsll_sasss G D) Qs sriy Geeme.
36. .If the function f(z) = Tf_E ulx yl+iv(xy)=
X - iy
A 3 yyZ " XTry?
2 2
B) X+ x+. iy

(x+1)2+yz+(x+1]2+y2

C) (x2+5]+i7y

x2+y? {
D) (x+1)2+y2+{x+1)2+y2'
flz) = lfz erevtleu, ulxy)l+ivixy)=
Xy |
A) xTry? " xT4y?
) x2+x+y? iy

[x+1]2+y2+(x+1)2+y2
Q) (x‘2'+5)+i7y

x2 4y iy

D) (x+1)2+y2 ¥ (x+1)24y2"°




38.

39.

40.

11 S-03
—11n-1,n :
Z L——%—ﬁ— converges if
A x| <1 B |x}-=
C x| >1 Dl jx| =2
_ n-1,n
Z L__l__)"?_x ereitp QarLf @elluyb eredflé
A x| <1 ' B) |x|=0
O jx]>1 D) x| z1
’I‘he series Z (- is absolutely convergent if
A p>1 . "B p<l1
Q) p=1 | D}‘p.<0,

-13)0 '
2 (_n"li)__ aarp QaTLi SpQar@GhGD el

A p>1 | -

Q p=1 - D)
The sequence { (- 1)")

A) is convergent ‘ - By

C} | is not convergent D) -

' (—[ -1)n )‘srs&n,r_) QigmL_r&&l

A)  @eluyb B) .
C) @y | | D)
2 2 2
The value of im 17+2 +3 LT
n— o n

A e | B)

Q 3 _ D)
12422+ .40 iy =

fn -3 oo n3 o 4=

A e B)
1

C) 3 D)

wim ©

p<1
p<0.

oscillates

is monotonic.

2,B0

gflwdoLires.

W=~ ©
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42,
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44,
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The incorrect sfatcme_nt from the following is

A} Nis countable set ‘B], Qs coqntable set

C) Q¢ is countable set D) = Zis countable set.

EPEGTITL Sapmishaefld TG Seuprs méFpg ?

A)  Naetug sanafl_gsss sewrio B Qaeug el ssse seorh
CQ  QGtestiug sanai_fsss sawn ‘D) .Z STETLIG ST 5558 SHamib.

In R with usual metric, the incorrect statement is

A (0, 1)is an open set B) {0}1s an open set

C) (0, =) is an open set D)' (—m,O]isanopensét.

aupdswrer ( metric } Qo MN&fé 2 efrer R o TG SeUPTE SadDTe EHéSDg 7

A (0.1) g6 Hpbe s Bl {0}p6 dpbs sewd

A (0.=)gpe dobs sy~ D) (- 0) g® Spbs semd.

Which one of the following is a vector space ? R x R with usual addition and
scalar multiplication defined by

A @(a b)=(0 ab) B) a[a.b_):{oza,azb]

C) a[a.b}:[.o‘ta.ab) D) alab)l=(|oa| a |o| b}

Pl ahg cueTuapuTd Qast GeusfiuTs Q@&Slpg 7 R x R eupsawmren

FalL 0 ppid Hevelelll Cumsa®d amyuempLrd

A oafa b)=(0, ab) " B o(ab)=(ocaa?b)

O alab)=(ca,ob) D) a(abl=(|a|a |a|b)
If A and B are two subspaces of a vector space V over a fleld F, then

A) A UBisasubspaceof V ~ Bl  AxBisasubspace of V
C). A N Bis a subspace of V D) ABis a subspace of V,

A, Basrusmeu Feergdler BSgeier Qeusi it Qeushl Ve 2 _erblcueflaen erefies
A AU B, V-1 2 eiGeuef] B) AXB, V- 2 etGeuef

C) ANB V-ér e etQouef D) AB, Ve 2 6iGQeuefl,




45.

47.

 46.

13 | | . $-03
If A and B are subgroups of an Abelian group G. then | |
A AU B is a subgroup of G " B) AxB isa subgrourp of G
C}] ABis a‘ subgroup of G D) j A% B is a subgroup of G
A, Beaeaug Geredn @Lﬂﬁﬁ]ujs&r ( abelian ) @osdle 2 L @Goid aTesié
8) AU B, Gen 2 L@ab Bl Ax B, G 2.l @eb
C) AB, Geam 2 Llgon - D) A* B, Gem 2 L.
If H is a subgroup of G and N is a normal subgroup of G, then
A  HN'is a subgroup of G
B) His a normal subgroup of G
C) H n N is a normal subgroup of G
D) H U Nis a normal subgroup of G.
G el @evgdle H eratrugy 2 L @eod whHmid Nsm'ﬂugj Gptremio L.L@eufn arafé
A) HN G a1 2 L @eud
Bl H, Getn Gpifend 2L Geb
C) HN N Ger Gpienn 2 @b |
D) H U N, Get Gpiteow LI;@G\JED.
The aﬁgle between the planes_ 2x-y+z= 6 and x#— y + 2z.=.7 is
A 60° . B 90°
c  30° b} 0°. .
2x - y+z=6 wppb x+y+2z=7 GTGI')T-I“D ponhsaf e @mL.ﬂut'_l‘_ Gamemilb
A 680° ' B) 80°
) 30° | D) 0°.
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X X

X X
48. G = { ( J | xe R* }’ Is a group under matrix multiplication. The identity

49,

element of G is

(5 x 1 l\
4 4 2 2
A 1x «x B o1 1
\4 4 2 2)
(1 1 (5’ x ) .
: |
o |1 1 Sl -
1 2 Lz‘.2)
X X

a{mﬂuﬂs&r CuEssmal Qurpss G = {( ] I Xe R*} G Gob erefer,

x x
g G @nsdler sweaf o m

fﬁ x ) fl- 1)
N 5 |3 i
\1 1) \2 2
(1 1) fx x)
o |1 1 I
\% 1) \ 2 2)_

The equation of the sphere which has the Hne joining the points (2,7,5)and
(8,-5, 1) as diameter is

A x2+y2+zz+10x-5=0

B x2+y2+22-10x-2y-62z-14=0
QO x2+y2+22-2y-6z=0

b) X+y+2z=0,

(2.7,5)wppd (8,-5, 1) eretip yetreflaanen Blenesré @b G&.rr@ a.ﬂp__;__u;rra,
Qebare Carerpdler suaiur®

A x%24y24322410x-5=0

B) _x3+.y2+22-le—2y—62:—14=0.
C) x?+y2+22-2y-62=0

D) x+y+2z=0.



50.

51.

- B2.

N 10 -3 5 20 17 -2
A [?-3*5) B (?~?-3ﬁ

15  s08

The point of intersection of the line x; 1 y-32 - ; 3 with the plane

2x+4y-z+1=0 is .
10 -3 5 20 17 -2
A [?-7*5] B) [?-?-?J

C) (2 -3 4) ' _ D)y (1,2,3)

x-1 y-2 _2z+3
2 -3 4
Qeullg &G smeirgn yeief)

aerp Car® 2x +4y -z + 1=0eaa&p seTH LN

o (2 -3 4) D (1.23) |
I f = (x2+y2)"1’\+(icz—y2) 7 along the curve y = x2, the value of

1

H
j f.dr=
0,0
‘ 9
A] 5 7 : B) 10
7 3
C) 10 D) 10~

0,0
A 5 o B g
7 3
C) io D) 1—6

The unit normal to the surface x%-xyz+2z%=1at(1,1,1)is

A
A 21;22 | B) ?+2_?'
: AA
Q) ﬁ D) 2;—_%_"'12.

[ Turn over




53.

54.

55.

16
-xyz+z3=1 Grsmgg urinSibe (1, 1, llsrsmg) Yefreflullév G]&lﬂ@ég: NG
A 21%££ B 1+2)
T-7+2k
o & | | D) M;S-L
L(x%)=
r | _ -
FT(n+1) : r({n-1
o —2rl) p tlo=l)
_L(xﬂ)=
r 1 | r
A ‘%51&) B) g(,:t”
I 1 . r -1
C) [2:"} - | D) ___-(s%_—l )
IfL[f[x))zF[s),thenL[f[ax)]=
A F(-E) B aF %)
C Fl(s+a) ” D) ép(g).
Liflx))=F(s)aele L (f(ax)) = i
o o) o of)
O F(s+a) D) éF(f—IJ
The particular solution of ( D?2_4 ) y= ez"‘ +e ¥ i
xe 2% e~ g ex e~
A v= T B v =g
. e..x
CQ y=e +e-4x D) - y =5

[D2~4) Yy=e?4 -4 o fpisdirey

2x -4x : X
. Xe e e
A v=" B v =TF+3

C y=e*+e-4x - | D) y =

|



56.

57.

58..

| 17 * 803
The equation Pdx + Qdy + Rdz = 0 is integrable if
99 _dR dR 3P 0P _9Q | _

A P( - +Q(ay“az)+R[ax_ay] 0

)
B p[ag_aﬂ)w[@_@_@\m(ap fﬁ)
)

9y~ ox 0

dR _dP 9P 9@ | _
+Q(Bz_ax +R[ay"az)_0

ax
aQ _dP dR_9P 9P _0Q ) _
D) P(az-.y)'Q(ax_az]_R(ay—ax]'o

B) P(%%-%E]#Q(%—i%—i}ﬁ[%—}%—%):O

0 P(%%-%—SJ+Q(%——§—%]+R(3—§-%—;QJ=O

o (B )o(8 ()

Solution of pz-ép+18=013

A (y-3x)(y-x)=0 Bl (y+x+c)(y-3x+¢c)=0
C y-6x-c=0 D) {y-6x-c)(y-3x-¢c)=0.
p2-9p+ 18 =04 ey |

A) (y—3x][y-k]=0 | ' B) (y+x+c}ty—3x+c)=0
C) y-6x-¢=0 D) ..W(y—6x-c)(y-—3.;c-c)=0.
The general soiution _of( D?-5D+6 Ju=0is | |

A y=C,e¥>+C,e* | B) 1.;‘=C,‘1e2*“+C2

C) y=C,e>*+C,e* - D y=C,e*+e*.C,
(D.2-5D+6]y=0—661®urr§|£r'm|

A y=C,e¥*+C,e* : B) y=C,e**+C,

0 yzC‘lea“+Cze2”- D} y=C,e*+e?.C,.

[ Turn over
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59. The value of Jj sin® x dx =
0

5

n
A} 32 .B) 35
: n
C) 2n D) g -
nSf2
f sin ® x dx & wHoy=
0
b5n : T
A 5 | Bl 35
' n
C] 2n ‘ D) 5 -
n/2
60. The value of f sin® x cos % x dx =
0 .
: 8 n
AN 208 | B3
o 8 5n
n/2 -
_ J/ sin ® x cos 5 x dx e wPy =
0.
8 14
A 408 B) 3
‘ 8 : br
C_) -6—95 | : D) 35 -

61. The radius of curvature for y = e* at the point where it crosses the y-axis is
A Z B) 2
0 2V2 D) 2.
Y=e* adip cuamereusmry y-@éeﬂé\) eL&@b yereflldler cusmarey gy ey
A 4V32 | | B 2
O 22 | | D) V3.

(A]
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62. The nt" differential coefficient of xe* is

A e*.n | | | B) e*(n+x)

C) xe”* | ' | D)  e*.

xe* & nPawmaslay .

Al e*.n _ -B) e"[_n+:é)

C) xe”* : ‘ D) | e*,
. 63. The Rolle’s constant for the function f{x)=x2 in[~1, 1.] is
A 0 . | B -1 |

T

Q +1 | - D 75

(-1, 11-& f(x)=x?adp sntyse Gyréey wrflel

A 0 B -1
| 1
D .
Q) +1 o ‘ ) -JT%
64. The maximum value of the function f(x)=x3-9x2+ 15x 1s '
A 7 - B 10
C) 5B D) 1.

flx)=x%-9x2%+ 15x aenp sTiLGE BUGUE DY
N 7 | B 10
0 5 | . D L

65. The values of (- 1)1/10=

‘ 2kn 2kn
A) ‘cos—ﬁ+tsin-ﬁ-)-.k=1 ...... 9

kr kn _

B) cosl—0+isin10. k=1...... 9
(k+l)m (k+1)m

C} cos 10 + {sin 10 k=1 ... 9
(2k+1)m (2k+1)n

D} cos 15 + i sin 10 . k-rl‘ ...... )
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66.

67.

68.

20
(-lllflosérmggluqa;eﬁ=
A} cosz—lkoﬂ+ isin'2—1’B—u L k=1...09
B) cos%+isin"f—g.k=1 ...... 9
(e+1)m . (k+l)m , _
Q) cos—l—o—+_lsin _10 k=1 ... 9
(2k+1)n (2k+1)=x _
D) cos 10 + { sin 10 , k=1.. 9
tan 40 =
.A)‘ 4tan @+ 4tan2 @ B ' 4tan@-4tan29
l1-6tan28+tan40 1-6tan20+tan4@
4tan? g 4tan?9
A 1-tan%e D) l+tan4o "
tan 40 = )
A 4tan O+ 4 tan? @ B) 4tan®-4tan20
1-6tan?0+tante. ' 1-6tan2 9+ tang
. 4tan?ep ' 4tan?¢
© 1-tan49 ' D) ‘l+tant9’
With usual notations if a pair of conjugate diameters meet the hyperbola and its

conjugate in Pand D, then CP2-(CD2=
A a?-p? ' B) a2+p?

QO a?p? D) Na2-pZ.

aupsswrear GPiie Popgis D edmp qsﬁaﬂe,eﬂs\) ST EUnI G)S]l'_n_maaﬂ_s&r Ggqusﬁ
Siglureuanerub whHmd Sypest serpeie spfédpg aafler CP2- CD2 =

A a?-p2 Bl a2+b?

0 a?b? D) +Va?-b2.

The perpendicular line to p=rcos (0 -a)is p' =

A rcos(a-6) ~ B)  rcos (%+a-¥9)
C) rsin(%+e-a) . D) rcos(lt2-+9—0t).




69."

70.

71,

21 ' $-03

‘ ‘p =rcos (0-a)aam Cariuhg Qeugigs Corp p' =

A rcos(w-96) B) r cos [%-&-a—e]
Q rsin(%+9-a] . D} rcos[%+9-u}.

The locus of the poles of chords of a parabola subtending a right angle at the
vertex is '

A x+2a=0 Bl x+a=0
0 x-a=0 D) x+4a=0."

B ujametugdlar pramsdildar ghusslar  Blae, 2 &dlayeeflilé
Lenlarcamgama gridleme ‘

Al x+2a=0 : B) x+a=0
C) x-a=0 D} x+4a=0.
The lines y = rmx and y' =m ,x are conjugate diameters of the ellipse
x2 2
22t g—z =1 if mm =

b2 -b2

A a? B a?
a? -a?
, ‘ox2 oy? . . .

y = mxwppd y =m x adp Car@est 5+ 33 =1 g Beieul L pgles
gar@p e L kst eraflés mm, =

b2 b2
A _ ? P B) a?

a? -a?
The characteristic roots of the matrix

cos 8 -sin @ :
are
-8in® -cos@ )/

A 1,0 ' B 0 -1
C) 1, -1 : D) 2 -1.

[ Turn over
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cos® -sin#
eredTp Syewthlesr Spuy epeutia s
-sin8 -cos@ ) _

A 1,0 o B 0 -1
a1, -1 D) 2 -1
A unitary matrix is

e (0

9¢>mwiUn1ta:y)=91€°¢'ﬂ gl "f.

S ()

1 1 0 -i
Q) ] D) :
, 11 { 0

73.

74.

Sum of the series log;e-log, e+ log ,, e_—lc_g81 e+ ... is
A log,2 | B log,3

log , 2 | log, 3

log 3 D) log 2
logse-logge+log,, e- logg, e+ ... asrp QgrL e sl @
Y .loge2 Bl log,3

log, 2 - |
A 123:3 D) fﬁﬁjg
If X is large, ﬁcérly VX2+16-VXx2+9 =

1 ' 3

A ax / B oy
7 : 7
C) ax . Dj 5% -




75.

76.

77.

| £(H saellenea 2. a3H@DEUTS SHAUGHES g ghuPeugl eTeren ?

23 -

X Quflw vy ereflé, &lLgs VX2+16 -VX2+9 =

A 5% B
0 & - D)
The coefficient of x" in the series
.1+b+ax+(b+ax)2+ ...... is
11 2! _
N B
C} am | D)
1o Rrax (bragh,
e J
cl an | D)

Hpisaprimeandp/a2+hb? and p/ b?+c?, then

A p/a? ' _ B)

C) p/a?+c? | D)

PG usr sre;o?rr.p/a2+ b2 wppd p/ b2+ c2 aaflé

A p/a? B)

C) p/a?+c? : _ D]“

A person is hurt on kicking a stone due to’
A)  reaction B)

C) velocity | D)

4  afiailenes B)
C) dlewaBeusid D)

3

2X

7

2x

u}

=

|

=

@

R~

-

p/c?

p/a?-c

p/c?

};/az—c

mass

momentum.

AL

2 (haib.

oy
a

[ Turn over
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79.
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Which of the following harbours is not a natural harbour ?
A) _ Cochin - B) Chennai
C) Mumbai | D}  Paradwip.
Spharagund Fonipsheaid THHMDWPHD G)UDHENSWTOT FEOMAP&HD a{c‘usﬁ ?
A  Geradlen | B) Gsearemen
C)  wbsu D}  umpgl.

Recently one Indian cricket player has become the Sixth Batsman to score
10,000 runs in Test Cricket. The name of the player is

A)  Sachin Tendulkar B)  Virender Sehwag
C)  Sourav Ganguly D}  Rahul Dravid.

- sufug e Gbdlu ffNsGesr afyrseie 10,000 GLLhisamer QL_G?UI; .%L;!_lﬂasaﬂe'o

80.

T0HS Spreugl bl alyfler Quuir erere 2

A) g48le QL dmHévanit. B  aRrhdly Caeurs

C)  Qseamye shiged - D) pree Hyrall.

The battle of Wandiwash was fought between P

A) Marathas and Portuguese | B)  the English and the French
C) the English and Portuguese D) Marathas and the English.

' mﬁg,ajrreﬂu Gurit Wi wrihse @sml_'uﬂs'u e Clubng 7

Al wyrlgutser wpmd GumtéaSfut e

- B gdiGawiser bhpbd QT ssaTyiaet

81.

C)  sudlGawisar whpb Gurtésddluraeh

D)  wrrlguisst whd o bdCewrtaef.

Linear pfogramming is designed by |

A B.F. Skinner B) E. L. Thorndike

C} L. P. Pavlov D) Clark L. Hull.
Guireuf gl Lgema 2 meursdueurt 7
Al e, evdl@tent - | B) @) eé. g;rrﬁcotreun.ﬁa

O e 9. urdieel | D) Herité. aréh. anéo.
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83.

84.

85.
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Which of the following first identified the Secondary Education as a weak link
and suggested improvement ? '

A) The Tarachand Committee ( 1948)
B) " The Sccondary Education Commission ( 1954 ]‘
C) The University Education Commission ( 1949 )

D) The Education Commission ( 1966 ).

EpSHan_ GUSHsEHT 68l Qe parms soallis augiebp @mmmw WPBTPHNG
s Bibg), Sigea CubLpss auflas gablwa 7 '

A smprehé sbllg (1948)

B @eLbons aaalé & ( 1954 )

0 ULhsREHPps HHals & 1949 )
D) eaaalls &W (1966 ).

Intelligence test scores are reasonably stable after the age of

A) one B) two

C) five | | D} twenty.
ahs ewgbheilles qggerrésa,ﬁu@tﬁ piamiled Gargene wHiyseT Hlenaureang .
N gD - B @Quaud

C} whg D) @mug.

Which one is not an S-R theory with reinforcement ?

A) E. L. Thorndike's theory

B) Hull's theory

C) B. F. Skinner's theory

D) Tolman's theory of learning.

oueyyl DB 6T Faig gL G-GlevigeT G Qareicns

Al E. L. griamen_d Qs,rrsﬂsma, B apd Oanaias

C) B. F. évdlarenit Gammeieans D) GLréwehdr shpd Q&reians.

The emphasis of National Board for Aduit Educatibn on Curriculum is that it
must be ' ' '

A) need-based ' . B) functional
C) job:oriented . D) production-orlented

[ Turm over
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WECuri ahalsarer Cadlu aurfuin susluynis g &mHHemyg so@SHLLD e
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Geuasonywg
4A)  Gapenaudedr g;qﬂuam_lﬁlds : B)
0O Gasmemurivey Cprad D)
World First Aid Day is
A) September 11 B)
C) September 10 D)
2008 (PHUB HleoTd eretTLg)
A Qelbut 11 B)
C) Qsibut 10 . D)

For the following scores

10, 11, 13, 10, 15, 17, 18, 15, 10

the value of mode is

A 10 ’ B)
C) 1.5 : ' . D)

QlewdoLm’1g 61 9 UiuenL ilés

2 Dusdleow Crred.

September 12
September 9.

QelLbur 12

Gsti_bur 9.

13
18.

Fpdhacimn UGS @SS, WHE s sw &A

10, 11, 13, 10, 15, 17, 18, 15, 10

A 10 B)
Q 15 o D)
Educational Technology means
A Technology in Education B)
C)  both of these - D)
asa'\mﬁl.gn:.uaﬁlméo aeTug

A sdalliilue pruaiue B)
0 @ranpCo | D)

13
18.

Technology of Education

none of these,

- edalldler gt uaSue |

@euppie o meullcrenes.

Which one of the following is not a cause for forgetting ?

B) Interference with present learning

A} When something learned and not used repeatedly

C) Lack of reorganisation of the learning material

D) Learning on the basis of short-term remembrance.




90.

91.

92.

93.

27 |  so03
E[p&scTTLeubmIsT ) GETYI WDHIGHET e &;nqcumm@s\) 2
A shHposs Sedu Snbu LLETUESSTSE
B} shGurg shps Qeramypuugler rEuTH
C) esbmen QUIEGLSHeer LY el ClELUTSS
D) endu sre Hoaealds syl e sHuUg.

~ When the reason for acting is in the action, motivation is said to be

A) éxti'insic : Bl intrinsic

C) extrinsic & intrinsic D) | none of these.

Qg wéouimig D et &,rrx}écmin QEwdLRSSILHD CUITLSI, SABDSTE se185HULHES SIS
A Geueflyp assILGSSS0

B} o sitenniihs ecbslupSHESH0

C)  Geuefltiym bHpis 2 erenTihs S166ILES SIS

D) @eubner agadéeme.

National Integration Day is _

A) November 19 B) December 19

C) September 19 ' D) May 19.
Cadlu puhdleramiy Harb aeig

A)  meubuil9 B}  gebutl9
C) QelLbutl9 D} Gw 19.

The Importance of Teacher Education was first emphasized by

A) the Woods Dispatch - - B) the Hunter Commission
C) Calcutta University Commission D) the White Paper.

2 &t sealflsr podusgiusms PHH euedlynIS W

A apen QuavGué B) amen Lt sblayed

C) s6sssT LOsmaLePS Sblaye D) Geusitenens smef.

Taxonomy of educational objectives was first developed by

A) Mager B) Skinner

C) Bloom | o D) Thorndike.

awel CErésuseien auamalurLIqee WSt (pgeliés SemwESaT
A Gosr | | B) eudlerant

C} yeepd D) gnicoené.

{ Turn over
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94.

95.

96.

97.

| 28
SSA is established for achievement of
A) Elementaxjr Education B)  Secondary Educaﬂon
C)  Higher Education D}  Vocational Education.
SSAGTG&TLJ@. a?gpé,asedmum;bmja‘r'srgwrmuqéema FHUGSS I L g 7
A OerLéss sdal _ Bl @eolflons sdaal
Q) e wiswel D)  QarPlhudpd adwel.

Whose philosophy is characterised as “Naturalistic in its setting, Idealistic in its
aim and Pragmatic in its method and Programme of work" ?

A)  Sri Aurobindo - B)  Gandhiji

C) Rousseaun - D}  Tagore.

Sjeoolflée Gubars Qaeiransenwyb, Coréasdle amsgs QsTeiemaamuyd pemp
s Ceudur’ G HheL s Lwerenencus: Glameanaemwud 2 efrem s SEFeud -
WITHenL g ? : o

A I opealpst B smpg) oy s

Q) eCeur ' D)  gmeart.

Multi-factor theory of intelligence was developed by

A} Charles Spearman , B)  E. L. Thorndike

C) L. L. Thurstone D) Dr. J. P. Guilford. 7
Bicst cflency eflerd@in Len &Mrasié Qameans e Carpredsgeurt
A emtedv eoSwr e | ' B) E.L sriane_s

C) L. L. giduLer D) Dr.J. P. &léGurri (.

The time of ﬂjght on the inclined plane of angle « inclined at an angle B is

using | 2usin (¢ -p)

A g B) g
Q) usin (o -p) D) 2usin (o~p)
g _ - gcosB . -

B Garemid Qamab TG &rr-u'.:gafrgélah Gue o a@g&ﬁa@anm&ﬂ_m
sTigens e upsen G . '

u sin o - 2usin{o-§)
A g , B) g

g gcos fi

0 usin (a~B) : ' D) 2usin[0t—[3)_
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99.

100.
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The range on the inclined plane of angle o inclined at an angle B is- |

IA) 2u?sin (o ~B) B 2usin{oa-p)
gcos?B gceos B
u2sin (o -8} 2u? cos o sin (g - [3]
© gcosf D) gcos?p
p Garewid Q&L @(r_s, sTigargden Couéd o allgne o Garanpgld
srhgenshlen aféa E '
2usin(a-P) ' 2u?sin(o-f)
A gcos? P B) gcos B
u?sin(a-p} 2u2 cos o sin (o - [3)
) “gcos B D) _ gcos?p
Time taken by the projectile to reach the greatest height is
2 qin.
U Ccos ¢ ‘ u® sin 2o
—_— B _— .
A) g _ ) T g
u sin o usino
. usmo _ p ===
Q) g% ) g
GO adlgiset e BUGLIm 2 LTSS &mgmg'rj)@ apsgIsCsreiEnd Cryb
.U Cos o E u? sin 20
A B Ty
, U sin o usin o
q g2 D) g :
The time of flight of a projectile is
usin o ' 2usin o
N g ' B) g
" u? sin 20 | u?sin? o
Q) , D) T
PG adgseiar upsse (flight ) Gryd |
u sin o ' : 2usino
A P : B) p
- u?sin 2a u2sin®a
0 g ) 29
If forces P and @ are at right angles to each other, then the magnitude of
their resultant E’ is
N R=PE:Q? B) R=VP2:+Q@2+2PQ
C) R= 2P , D) R=P+Q.

{ Turn over



102.

' 108.

A) R=\JP2+Q2 B R

30

P g aeip aleosset aamsOardry Qsugss Carauhse et afleneney R

allenaullet eradoreooramey

VP2+ Q2%+ 2pQ

C) R= 2P '_ D) R=P+0Q.

A uniform ladder rests with one of its ends_,on a rough ground ( p — coefficient
of friction ) and the other end on a smooth wall. The angle which it makes with
the horizontal is

A tan-lp - B tan!2p
B -1 L
C) tan 3 _ D) tan [2}1)'

o6 frer gexlidlér m Warar QerpQemyiurer gy Bao (1 - 2 gried Qs )
wHOPTEH peve G cupeupliuTar &t Bgib srlhbd SEsuppn Hleveuld
QBHEIng. 25 foL Carlybe smipfnésn Caramid

Al tan~ip B tan-!2p
1R | ‘ an-1] L]
C]_tan 7 | D) tan (2}1).

ABC is a triangle and O is the incentre of the triangle. Forces P, a R acting
along thelines OA, OB, OC arein equilibrium. P: @ : R =

A . 0sB .cos & b
A] COs 5 :COS 5 :COSo B) a:b:c
C) sinA:sinB:sinC D) OA:O0B:OC.

ABC g® @&Qsmewid wpyb O aadtug Sip weloramsdlen a_sreul L aniowib,
P, §. Raep adwssct OA, 0B, OC auflurs sufeailles QoudL(bd aeilé
P:@Q:'R= ' '

A)' cosxg:cos;g:cos—z(2 B) a:b:c_

C) smA:sinB:sinC D) OA:OB:OC.
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When one body in contact with another is in equilibrium, the frict:lon exerted is

just suffic:lent to maintain equilibrium and is called
A)  statical friction B) dynamical friction

C) limiting friction - D) cone of friction.

§® Qurmst wHOCLITE Curnst W soflaalls QBss eopbsaa Coamaumea
2 seflens 2 grie) Clewoulbd Sbs 2 JTlakG

A Hlener 2.gmiey Bl @Quiig 2 gmiey

C) edveme 2 qmiey ' _ D) 2 qmleyd amibly.

- The resultant of two eciual forces P, P at an angle o is

o : o
Al 2Pcos 3 | B) 2 cos 2
0 2P D) 2Psing.

P, PE® su seraser 2w allosss o aeip Carempder Qeusuhn Gurg
g eflameney allemalles orcdoreueney '

o , o
A} 2Pcosy | Bl 2cosg

_ o

C 2P D) 2Psin 3
The resultant of two forces P and @ is R. If @ is doubled, R is doubled. R is
also doubled when @Q is reversed. Then P: Q:R=

A VB:NZ:V2 B V2:vV3:42

O VEiBivE D) B:iNBiVE.

P. Q arebim @\ oSene sofen alenerey lens R%@fﬁ. Q B BLLES AGLOUTHE
Rib @@muﬁug, 2 8pg. Cugd Q Jar@airég ( Reverse ) S0 Qur e
R'@u_r, wLAG 2&ng gafié P: Q: R=

A V3:42:42 B V2: N2
) V2:v2:+3 D}  V3:V2:43.

= [ Turn over
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107. The Taylor's series for —;- about z = 1 is

108.

109.

N
N

A) l+1—zi+ + ...

b

B 1-(z-1)+(2z-1)2-(z-1)3+ ..

C 1+(z-1)+(z-1)2+ ..
D} 1+z+2z24+234 .

z =] eeip yefreflildy %s&? QLo Qg

F =]

z z
A) 1+—1—!+*2-—!+...

B) 1-’[z-1)+(z—1)2—(z—1]3+...

o 1+(z-1)+(z-1)2+ ...

D) 1+z+22+3234 . .

z+1

The residue of 5 at z=2is

- z°~2z2 _

-1
A -3 | B)
C o . - D)
z=2&, 2 1 cander asen

T N P |
1 - . -

A - 5 B)
g 0. ' D)
z2-4

The value of ,im, o5 Is

A 2. | B)

0 1 | D)
z%-4 | . | |

R

A 2 ‘ B)

C 1 D)

G KOl G

G M
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110. The angle of rotation at z=1 + i under the niap w=2z2 is

111

112,

113.

A)

0

n

4
0

B)

D)

bis

2

.

z=1+1 & w=z2aém LEorbpsdé swpdille Caramin

A

&

. The

A
C)

>

A
C

n
4
0

L n?+1
SErics ?‘
oscillates
diverges to — o

2
nsz ! aetp QgmLm
gengeurT (Hib
— oo g alflyd

B)

D)

B)

Dj

- B)

D)

i

2

.

diverges to + =

converges.

+ = &@ siflyb

@y,

i flz)=a (x2-y?2)+ibxy+ c is differential at every point, the constants

A
Q

aéer yeieflseflgbd

2b=a - | "B

2a=Db D)

auens 55558 aané, wrldladr

A)

C)

2b=a

2a=»>b

1 1
21 n!

D)

4db=a

a=Db.

1 : ’
If an=1+~ﬁ+—+-...+—,then(an)is

A}
B}
Q)

D}r

strictly monotonic decreasing series

monotonic decreasing series
monotonic increasing series

oscillating.

[

flz)=a [xz—y2)+ ibxy + ¢ eeéip  &miy,

- [ Turn over
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114.

115.

34

a, =1 +ﬁ+%+ +,Hl"! srszsﬂéo,(an)@@.
A gfludurer Quefleumss GDhEh QgL (pemp
B) gfludurer Gnugh QarLiaenp

C) @rﬂmeb'urrsm gob QamLipenn

D) estgeumrHib.

The series 2[-1)“[\!n2+1—n] is

A)  absolutely convergent B)  conditionally convergent

C) divergent ' D) power series.

z.[.‘* )" [ VnZ+1-n ] sTepid QlmL.rt

A omGleummhigh B flubseoeny & EHRED
O alflyo 7 D)  wueut ( power )} Q&mLft.

In R with usual metric, the incorrect statement is

A)  Zis closed ' Bl @ is closed

O Ris closed | D) {a}lis closed, ae R.

116.

apsaorar Gl fégla ( metric ) 2 eior R& g SDTE bDTe @méHng 1
A Zge gpgu s@oid Bl  Q&® pyu &0
C Rg®G gy seaoid D). {alg® epyu sewid, ae R.

disa metric on M, the incorrect statement is

A) +Vdisametricon M B) 1fdisarnetriconM
C) d?isametricon M D) ndisametricon M, ne N.

Mé dge Quifis aafldr, ag gaprer sabors @usdng 2

A Mé Vdgo Guifs B Mé %a- S® Qui M
Q) Meé d?ge Culfs D) Mé ndegm Gulfls ne N.

»]
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117. Which one of the following sets of vectors is linearly dependent ?

A {(1,4-2)(-21,3).(-411,5)}

B {(1.21)(21,0)(1,-1,2))

0 {(1.0,0),(0.1,0),(1,1,0)}

D {(0,0,0),(2,5,3)(-1,0,6)}.

Epsae Qe seamthselle a5 Q@ LY ETTHSS)

A {(1,4,-2)(-2.1,3)(-411,5)}

B {(1.21)(2.1,0}%(1.-1,2)}

¢ {(1,0,0),(0,1,0),(1,1,0)}

D) {(0.0,0)(2,56,3),(-1,0.6}}. _
118. Which one of the following sets of vectors is not a basis for V, (R) ?

A {(1,0,0)(11,0)}

B) {(1,0.0),(0,1,0),(0.0,1)}

€ {(1,0,0)(0,10)(1,1,1)}

D} {{1,1,0),(0,1,1),(1,0,1)} |

EpssaoiL. QeubLit samhseile g V, (R) 67 Q3666010 o 2

A ((1,0.0)(1.1,0)}

B {(1,0,0),(0,1,0),(0,0,1)}

© {(1,0,0)(0,1,0),(1, 1, 1)}

D) {(1,1,0){(0,1,1),(1.0,1)%L

. ' a b o
119. The set R = { [ ] | a be R} is a ring under matrix addition and

-b a
a b
multiplication. The inverse of is

N

. @ , - [ Turn over
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_ a b
<eciifledt gl wHpD CuBbsseel QuTpbs R = | . be R g

a by

]s&sré]r’rgmﬂ ?
-b a

S .

A) B)

' -b a -b a
| [ a+b] (—a —b)
C) D) :

~-b -a b -a

120. If a non-empty subset W of a vector space V over a field F is a subspace of V,

cuemeTwd eTertléy [

theno,fe Fand u, ve W=
A ocu+Puve W B cu+Pve W
) ocu+PveV D} cue W.

Weaatug Feaemm sengdlear gerer QeusLsr Geusll Vet Qeubhpibm et sewd ereflé

o,.Ppe FFuve W=
A ocu+Ppuve W Bl au+BfBveW
C} cu+pPve V D) oug W,

121. If A and B are two finite subgroups of group G, then

A |G Al=IG:B[B:A] B) [G:Bl=[G:AllA:B]
o | aB|=JALIBL D) | aB|=JALIBL
|ANB | | AUB|

A, Beaeip seomusar G eranm @6\)551&31‘ WY LW 2 U Gahiael erearld

A [G:Al=[G:B[B:A] B) [G:Bl=[G:A]lA:B]
c) |AB|=—LA—‘L‘|£L D] |AB|=_liI_J.§_I_.
, | ANB | | AU B |

———
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122. Which of the following tables can represent a group ?

¥|1 o - ~ ¥|1 -1
A TIO B) _1_1._1
0{0 © -1 |-1 1
*|o 2 %3 4
g 0|0 o ' 3|9 12
20 4 4|12 16

EpbaaL S| Lumanile gl P GNHOS @N&Lepg) 7

11 0 : |1 -1
A 111 O B) 1{1 -1
00 0O -1(-1 1
[0 2 |3 4
Q) Olo 0O D) 3|19 12
210 4 ' 4112 16

123. The radius of the sphere 2x2 +2y2 +222-2x+2y-42z-5=0 is_

A1l B 5
C) 2 ‘ D 4.
l2.:rc.2 +2y?+ 222~ 2x + 2y -4z - 5 = 0 aretrp Gamenpdlesr S yb
A1 B) 5 .
C) 2 ‘ D) 4.

124. If S=0 and S, = O represent two spheres, then S-S, =01s

A) sphere B). plane

C) line D) circle.
S=0 wppbd S, =0 aduoe G Carerbaamen @ﬁﬁ\éaﬂsﬁtmm aefle, S-S, =0

T e5TLIS)

A) - Gasmwerd

Q) Ger@

B) gemd

D} euliib.

[ Turn over
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12 :
125. The value of j J.xyzdydx=

0 o
8 4
A 3 B 3
o, .
Q) 3 D) 3 -
1 2
Ijxyzdydxs&rm&ilq=
0 0
8 4
A 3 B 3
. 1
o 2 D 5.
126. The line —>1 . Y~ Y1 _ 272, ! to the pl
. The line ] = Tm = ~ T Isparallel to the plane
ax+by+cz+d=0 if
A) XX, +yy,+2z,=0 ‘B) 12+m2?2+n2=0
a b c =0
(o) T=m=r D} al + bm+ cen= 0.
X-x - Z-2z '
l 1=ym!_:'1= - lersa-@ Car® ax+by+cz+d=0 adrp papdpe
Blemeorurs @msGDh aefld
A xx, +yy,+zz,=0 -~ B 1?2+m?+n?=0
C) 2’_ 2 - C D l+ b =0
' I = m = n ) ) al+bm4+cn=0.
127 For any constant vector &,V(&.T‘)_:
C a D T
@ QeusLrt wrfled el v (. 7 ) =
A T B) a
Q) a _ D) r.
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128. ﬁ' f = (ax+ 3y + 4z) ?+(x—3y+32)_'j\+(3x+2y7-—z‘} k is solenoidal,

129,

130.

131.

the value of a is
A} 2 B)
C) 3 D)

- 4

0.

_f = {ax + 3y + 4z} ?+(x-39+32)3'+(3x+2y_—z)ﬁsrsr‘nug

umlieubpg ( solenotdal ) eefid aer wgiy

]

A - 2 B)
O .3 D)
L(xze'w‘):
2
A (s+a) B)
1
© {s+a)d D)
L(xze"’-")=
2
A {s+a)? B)
' 1
9 Grar o

_ 2
(s+a)?
I
(s+a)®’

2
(s+a)?
1

(s+a)§'

Theparticularintegralof(D242D+2) y=e*sin x is

e*cos x

A 5 B)
xe* cos X .
C) — 5 D)

- e*cos X
A —

D) , B)
xe* cos x
C) = Dj

Clairaut’s form of differential equation is
A y= fixp) ' B)

Cl x= f(y p) D)

xe* cos X
2
X CcOos X
— -

(p2-2D+2 } y = e* sin x-a1 Siplys OpTes

xe* cos X
2

Xcosx
=X,

y=px+ flp)
Mdx + Ndy = 0.

[ Turn over
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UDeSECIHWE swETLTL T damenymdy g eul
A y=f(xp) ‘B y=px+ f(p)
a ‘x=f(y.pl o D) Mdx+ Ndy = 0.
132. The particular solution of ( D2+ 9 ) y = cos 3x s

COS | ' sin 3x
A y=5T B y=—%
_ _ , ]
0 y-= xslg3x 7. D) y=x sénSx.

(D% +9)y=cos 3xen Apiys irey

cos X ' ‘ sin 3x
A y="73 B) y= ~g
‘ ' . \
o y=‘xsig13x | D) y=x seisnSx.

133. If I= Isecaxdx. then 2I =

A)  sec xtan x B) sec?x '
4 -
Q) §e_c£:1__x ' D) sec xtan x + log ( sec x + tan x).

I= Is'ec”xdxsreuﬂs‘u, 2 =

A} sec xtan x ' B) sectx

sec 4 x

4 D) sec xtan x + log ( sec x + tan x).

Q)

134, If Mdx+ Ndy =0 is of the form

Yflxyldx+xg(xy)dy =0, f(xy)#g(xy). then integrating factor is
1 ,

A Mx‘Ny '_ - B Mx + Ny
| [ Pdx , _ 1
9 e D e ata):

de+Ndy O erebrug y f(xy)dx+xg (xy)dy = of(xy];eg[xy}srsm,r)
ageusdle Gyréfng aeflen, Qgreelié smyewf

1 1
A Mx - Ny B Mx + Ny
[ P dx 1
O e - D) FOy)+g )

Al

|
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135. The centre of curvature at[ —% i—) onymx2 is
A (38,2) B {01)
' | . 1 5)

1 1), P . -
51 y = x2 et suememsuenquiler cuemeney enwwid

A. (3,2) | B (0 1)

o (2.4) D) (—

N =
o | O
—

n/2
136. The value of f cos® xdx=
o

5n 8
A 33 B 15
aQ 2 | D) g
w2
'r cos ® x dx e wdoy =
0

5 | 8
4 35 Bl 15
Q 2n D 5.

' . . 1/2
137. The value of C of Lagrange's mean value theorem for f(x) = [ x2-4 ] 2 in

f 2, 3] is
A 2 | | B 3
0 =45 : | D} xv8.

@ - .- | [ Turn over
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[2, 3] & f(x) = (x2-4)}"?qa aniydg en&Gransy symefl wdliy
: D jeogy &
Cabmadlenr C e whoy

A 2 B) 3
C) =+5 D) =v8.
dtlog (ax+b). _ |

138. ax” =

A (-1)"lat(n-1)t(ax+b)-"
B) (-1)*!'(n-1)1{ax+b)-"
CQ (-1)*'a™{ax+b)"

D) (-1)*'a™(n-1)!(ax+b)".

d"log (ax+b) _
dx ™ =

A (-1)"'a"(n-1)t(ax+b)-"
B (-1)"!(n-1)1(ax+b)-"

C) (-1)*lanh(ax+b) "

D) (—,1)""q"[n—1)I[ax+b]“.

139. cos (sin x) =

LRSS B 143
C) 1+x_4_2 D} 1—52—2..»
cos ( sin x) =

A 1+x§2—‘ B) 1+_"2—‘.
Q) 1+i§,‘—2 b 1—523.




140.

141.

142.

43
sin O 863
If ~5— = ggg nearly 0 =
-
A 3
1
C) 12
Sh;e = gGTisrsuﬂéu. F Ll 8=
1
A 3
1
C) 15
2_
Ifz=cose+isln9,22—1=
z<+ 1
A isin®
C) itan®
: z2-1
z=cos 0 +isinf aaflles =5—— =
Z°+ 1
Al isin®
C) ‘-'f.t.anB

sin?6 cos®0 =

A)

B)

Q)

D)

—1—16[c0559+c0539-2c0391
é[cos 56 + cos 30 — 2 cos 6 |
%[sin5ﬂ+sm39—2sin9]

T[sin50+sin30-2smn0].

B)

- D}

B)

D)

B)

D)

B}

Dj

o |

|-

o f

Y

icos O

i cot 6.

icos @

i cot 6.

S$-03
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143.

144,

145.

44

sin?6 cos®0 =

A) —]1—6[c0s59+00339—2c059]

B) %[cos59+cosBB—2cosB]

Q) *i%lsln56+sin39—2sin9]

D) ;(sin50+sin30-2sino].

The eccentric angles of the ends of a pair of conjugate dlametefs of an ellipse
differ by

Al 90° B} 45%°

C)  80° o D}  60°.

peteul L gt sevauny el Lhisefer (Bgnq.e:srﬂér wyeysefler eccentric
Carewriisefer Geupur®

A 90° , B) 45°
C) 80° D) 60°

With usual notations the points of intersection of the conjugate diameter and the
conjugate hyperbola are

Al (xaitan®, *bisecd) - B) {+itan 6, xisec@)
C) (xatan®, +bsecH) D) (% icos® =ising).

wupssorar GRS Ge sdign siflupamauyd sergin el L wd Qeulys
QEme@hid Leraflgel

Al [*aitan, * bisec9) Bl (zitan®©, xisecd)

Cl (xatan® =bsecd) D) (+ icos®, xisin@).

A skew Hermitian matrix is

' b c+id f 0 -a+ib
A) B)
-c+id ib \a+ib ib
ia —c+id O a+ib
Cl D) .
c + id 0 : i 0




146.

147,

45 | - §-03 -
adit Qaniiflwen el

([ ib c+id {0 -a+ib
A : B) _
\—-c+id ib : a+ ib ib
(ia ~c+id Q0 a+ib
Q) D) .
\\c+1‘d 0 - ia 0
1 1 1 '

The rank of | 1 2 3 Jis

A)SI B 2

Q 1 _ D} 0.

1 2 3 | adm seNdler gy

A 3 B 2
o 1 D) o.

The smallest degree of an equation with rational coefficients, one of whose roots

is V2.+ V3 1is
A 4 | : B 2
C) 1 . : D) 5.

V2 + V3 adp wesdd, aldsun awssEpLd 2 @LU &DEBT UL 15 65T

G@DHBHLG
A) 4 B) 2
Q 1 . D} 5.

| Turn over
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148. The Highest Common Factor (HCF. ) of 2x3 + 532 + x -2 and 2x2_ x4+ 1

is
A x-1
QO x+1

2x% + 5x% + x-2 LPHpbL 2x2
A x-1

C x+1

B 2x-1
D) 2x+ 1.

~3x + 1 oy flweupifier BlauCuflu Gurg sryasi
B) C 2x-1

D) 2x+1.

149. The smallest divisor, greater than 1 of any integer greater than 1 is

A)  odd number

C) prime number ‘

B)  composite number

D) even number.

GHop efl. @{ﬂﬁwﬁwws{kggg}lé@r%ér_ﬁfﬁﬁmum serepall. gflswrer

Hlas il eugsen e
Al ghepluel e

C) uvsr e

Bl u® e

D)  @rleLi UL eregr.

1 X3-1

150. ¥ x>0, 3511 %+§W ...... =
A) llcug){2 o B) log X
0 logVX D} log 2X.
X> 0 aaflé §11+% [ii%jdré(—%}—s ...... =
A log X2 Bl logX
Q) ..log\’Y

D) log 2X.
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KEY-X03A.TXT
TEACHERS RECRUITMENT BOARD, CHENNAI-6. X03 (MATHEMATICS)

BOOKLET => A(REVISED)

1 2 3 4 5 6 7 8 9 10
B A C D B C A A B C
11 12 13 14 15 16 17 18 19 20
A A B D C A D D B C

21 22 23 24 25 26 27 28 29 30
A B A C B *

31 32 33 34 35 36 37 38 39 40

A D B D A B A A B D
41 42 43 44 45 46 47 48 49 50
C B C C C A A B B A
51 52 53 54 55 56 57 58 59 60
C D A D A B D C A C

61 62 63 64 65 66 67 68 69 70
C B A A *

71 72 73 74 75 76 77 78 79 80
C D C D A D D B D B

81 82 83 84 85 86 87 88 89 90
A C D D A *

91 92 93 94 95 96 97 98 99 100

A A C A B B D D D B
101 102 103 104 105 106 107 108 109 110
A D A A A B B B B A
111 112 113 114 115 116 117 118 119 120
D C C B B C A/C/D A D B
121 122 123 124 125 126 127 128 129 130
C B C B B D B B A B
131 132 133 134 135 136 137 138 139 140
B C D A D B * A D C
141 142 143 144 145 146 147 148 149 150
C A A C A/B/C B A B C B
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